Svenska Bridgeférbundet
Simultan dagtid 2019-04-11

Partavling, 50 bord, 97 par. Antal brickor: 24. Medel: 1102.9. Frirond (*) ger egen procent.

Plac Par
1 F4
2 F3
3 F2
4 F1
5 C18
6 F11
7 D14
8 D15
9 Cc2
10 F10
11 Al
12 A5
13 B8
14 A10
15 E1l12
16 B15
17 B10
17 D16
19 A6
20 E108
21 F6
22 c8
23 B4
24 C1l6
25 A3
26 B5
27 C20
28 Cl4
29 D8
30 F7
31 E107
32 E103
33 C5
33 B13
35 D5
36 C13
37 D7
38 B2
39 E106
40 B11
41  E111
42 C10
43 D10
44 C19
45 D13
46  E105
47 B6
48  E110
49  E109
50 Cc7
51 F22
52 C17
53 F15
54 F5
55 C3
56 F9
57 B9
57 E101
59 Bl14
60 F21
61 D2
62 C12
63 D6
64 E102
65 D4
66 D3
67 F23
68 F13
69 F8
70 A9
71 E113
72 B7
72 Cl1
74 El114
75 A8
76 B16
77 C4a
78 D9
79 F24
80 F18
81 A4
82 B12
83 F20
84 F14
85 C1

Poang

1498.0
1475.0
1473.0
1446.0
1443.3
1412.0
1389.8
1377.8
1375.6
1355.0
1354.0
1337.0
1335.0
1321.0
1316.0
1314.0
1284.0
1284.0
1282.0
1279.0
1265.0
1231.6
1220.0
1219.6
1216.0
1211.0
1194.5
1190.2
1183.6
1180.0
1179.0
1175.0
1174.0
1174.0
1155.3
1153.1
1151.0
1149.0
1146.0
1145.0
1144.0
1143.3
1138.9
1137.8
1120.4
1120.0
1116.0
1115.0
1098.0
1091.0
1074.5
1071.3
1062.5
1062.0
1060.0
1059.0
1051.0
1051.0
1048.0
1039.6
1039.0
1034.0
1016.7
1016.0
1008.0
1006.9
1004.7
987.3

986.0

984.0

983.0

982.0

982.0

972.0

961.0

959.0

957.8

956.7

944.7

941.5

925.0

915.0

914.2

908.7

905.0

%

67.84
66.80
66.71
65.49
65.37
63.95
62.94
62.40
62.30
61.37
61.32
60.55
60.46
59.83
59.60
59.51
58.15
58.15
58.06
57.93
57.29
55.78
55.25
55.24
55.07
54.85
54.10
53.90
53.61
53.44
53.40
53.22
53.17
53.17
52.32
52.22
52.13
52.04
51.90
51.86
51.81
51.78
51.58
51.53
50.74
50.72
50.54
50.50
49.73
49.41
48.67
48.52
48.12
48.10
48.01
47.96
47.60
47.60
47.46
47.08
47.06
46.83
46.05
46.01
45.65
45.60
45.50
4471
44.66
44.57
44.52
44.47
44.47
44.02
43.52
43.43
43.38
43.33
42.79
42.64
41.89
41.44
41.40
41.16
40.99

Namn

Ingmarie Lindkvist-Domeij - Krister Lindkvist
Bengt Hallgren - Sofia Sundstrém

Per Bergstén - Svante Wangberg

Arne Johansson - Kent Wéppling

Jan Clementsson - Osten Svantesson
Anders Kovacs - Else Kovacs

Ragnar Jansson - Lennart Karlsson
Gunilla Hennings - Eva Wilander

Borje Jarlvik - Berth Rasmusson

Lottie Lundmark - Leif Lundmark

Leif Rangevall - Stig Hedenstrom
Annica Ericsson - Erling Ericsson

Hans Wijkstrom - Eva Linde

Mikael Johansson - Jan Arne Heimdal
Bertil Andersson - Michael Triebe
Stefan Odevall - Claes-Goran Bergstrom
Sven Arvidson - Lars Wastfelt

Maud Kylinger - Arne Melin

Anders Granstrom - Viking Sandas

Gun Karlsson - Ake Karlsson

Bruno Astrand - Uno Karlsson

Klas Bellander - Mats Holm

Kerstin Luthman - Agneta Delin
Hans-Olof Hallén - Gunilla Wallin

Erling Hartman - Stig Bergqvist

Jan Larsson - Paul lwarson

Flemming Rasmussen - Hans-Goéran Olsson
Ebba Ericsson - Ulla Regnér

Kerstin Johansson - Birgitta Melander
Lars Haglund - Idor Kihimark

Roland Lundberg - Lennart Linnerstedt
Lars Lovgren - Rosaine Klerborg

Bengt Sahlstrom - Barbara Sahlstrom
Katarina Landstedt - Agneta Moberg
Sven Claesson - Jan-Ake Gustavsson
Gun Bellander - Ulla Lundstrom

Harald Danielsson - Olle Nilsson

Lars Dahlgren - Renja Jonasson

Mats Andersson - Orjan Randhede
Torkel Olund - Eijvor Frej

Bertil Helmer - Stig Petersson

Siv Jarlvik - Anna-Carin Persson

Lage Johnsson - Ingemar Lindberg

Olle Persson - Sverker Skold

Roger Hilmersson - Anita Bergstedt
Lars-Gunnar Karlsson - Nils-Géran Engmark
Maud Lindstedt-Gramer - Birgit VVassilaros
Per-Ake Lanemo - Jan Gunnarsson
Margareta Ljunge - Margareta Jarheden
Gabriella J6nsson - Monica Jonsson
Inger Nygard - Gunilla Ehlin

Vivi Sjo0 - Jan Lindstrém

Mats Gernandt - Louise Gernandt
Fredrik Broberg - Ingegerd Hermansson
Hans Ryning - Lasse Thomasson

Leif Hansson - Ingvar Holmér

Christer Gottlieb - Arnfinn Gulliksen
Gerd von Dahn - Birgitta Dahlgren
Agneta Bringby - Ewa Gabrielsson
Gunilla Ramén - Margaretha von Plomgren
Birgitta Sjoo - Curt Sjoo

Bertil Hansson - Christian Frisk

Gert Sjunnesson - Richard Tham

Maj Danielsson - Sivert Danielsson
Bernt Carlsson - Olle Rejler

Kenneth Géllman - Kerstin Kardell
Sture Nordlinder - Yvonne Nordlinder
Leif Eliasson - Annika Haaga

Ingrid Hjarne - Borje Bengtsson
Lars-Ingvar Norberg - Ingvar Westerlund
Eskil Steg6 - Ulla Wahlquist

Dennis Ovefors - Kerstin Skogsfors
Hans Antolin - Sven Grahn

Inger Kippel - Kerstin Engmark

Karin Hartman - Lilian Pekonen

Benny Hellman - Margareta Roos

UIf Pernvi - Monica Lannerud

Iréne Palm - Ann-Katrine Ryn

May Lindberg - Eivor Henriksson

Mats Ersson - Ingvar Malm

Urban Renlund - Rigmor Johansson
Inger Wastfelt - Siv Boethius

Per-Olov Viterstedt - Margareta Viterstedt
Bengt Ljungcrantz - Harry Tallé

UIf Qjing - Bertil Cohen

MID

29637
8909
41
8768
55627
56602
1559
6841
4479
53804
10493
14937
41392
50525
11916
85389
30066
31298
91048
1201
53524
4541
27940
9896
85931
5220
10707
25998
55133
47878
40418
50169
53453
80314
83814
3638
36010
37386
7582
41379
81583
5751
83441
23285
42107
90952
10234
41450
1480
61056
25338
40628
64990
90783
45407
82953
48775
91406
37379
39649
28645
6750
47447
37932
29381
32688
58732
58736
40584
85935
91133
93638
40226
50188
85932
15033
33681
90943
87809
58734
35020
41396
53174
4393
14012

30079
53097
47877
88572
5765
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Klubb

Flens BS

Trosa BS

Trosa BS

Trosa BS

Malmd BK

Trosa BS

Filbyter Bridge

Filbyter Bridge - Ljungsbro BK
Malmo BK

Trosa BS

Alvsby BK - Pited BS
Pited BS

BK ALERT

Alvsby BK

Filbyter Bridge

BK S:t Erik

BK ALERT

Filbyter Bridge

Pited BS

Filbyter Bridge

Trosa BS

Malmé BK

BK S:t Erik

Malmd BK - BK Bridgehuset
Pited BS

BK Bridgeliv - Lidingé BK
Pri-Bri 1936 - Malmo BK
Malmé BK

Filbyter Bridge - Skadnninge BK
Trosa BS

Filbyter Bridge

Filbyter Bridge - Mjélby BK
Malmo BK

BK ALERT

Filbyter Bridge

BK Bridgehuset - Pri-Bri 1936
Filbyter Bridge

BK ALERT

Ljungsbro BK - Filbyter Bridge
BK ALERT

Filbyter Bridge

Malmo BK

Filbyter Bridge

Malmd BK

Filbyter Bridge

Filbyter Bridge

BK ALERT - Norrorts Bridge
Filbyter Bridge

Filbyter Bridge

Malmo BK - Sjébo BK
Trosa BS

Pri-Bri 1936 - Malmo BK
Trosa BS

Trosa BS

Malmé BK

Trosa BS - Gnesta BK

BK ALERT

Filbyter Bridge

Norrorts Bridge - BK S:t Erik
Trosa BS

Filbyter Bridge

Malmd BK - BK Bridgehuset
Filbyter Bridge

Filbyter Bridge

Filbyter Bridge

Filbyter Bridge

Trosa BS

Trosa BS

Trosa BS

Pited BS

Filbyter Bridge

BK S:t Erik - BK ALERT
Pri-Bri 1936

Filbyter Bridge

Pited BS

Rotebro BS

Malmd BK

Filbyter Bridge

Trosa BS

Trosa BS

Pited BS

BK ALERT

Trosa BS

Trosa BS

Malmé BK




86 D11 894.5 40.51 Ingrid Karlsson - Margareta Strom 35000 35001 Filbyter Bridge
87 B3 884.0 40.04 Anna-Greta Berg - Birgitta Wideback 49605 56641 BK ALERT
88 B1 877.0 39.72 Hans Bjurling - Lena Bjurling 61453 61454 BKALERT
89 E104 862.0 39.04 Ulla Ouchterlony - Siv Gustavsson 45563 87227 Filbyter Bridge
90 D12 861.0 38.99 Ann-Margret Bokmark - Ingmarie Leinskold 78984 32383 Filbyter Bridge
91 F16 855.3  38.74 Monika Tornkvist - Willy Andersson 65835 64987 TrosaBS
92 A7 851.0 38.54 Goran Isaksson - Lennart Strand 46513 63760 Pited BS
93 C15 840.0 38.04 Roland Wennick - Lennart Ericsson 33035 40513 Malmd BK
94 C9 831.0 37.64 Bo Gullberg - Ingrid Gullberg 55374 55373 Malmd BK
95 A2 809.0 36.64 Evert Westerlund - Anders Borgman 85934 49260 Pited BS
96 F19 630.5 28.56 Birgitta Kempe - Else-Maj Sigfridsson 62922 63114 TrosaBS
97 F17 629.5 28.51 Ulf Frimodig - Agneta Froberg 41478 53176 TrosaBS
1 » 10654 Bésta kontrakt 2 454 Bésta kontrakt 3 & Kn7 Bésta kontrakt
Nord vE9 2v O =-110 Ost vE 4v O =-420 Syd v 9763 5¢ S =400
Ingen + D62 NS + DKn8652 ov ¢ EKn2
#D1092 & ¢ v aN *K864 & ¢ v & NT #E1098 & ¢ v & NT
4982 & EK7 N6 5566 4 E62 4873 N9 9 386 4985 &« E6432 N 11115 5 7
v84 vKD1075 S6 5566 vKn7642 vKD1085 S99 386 vKDKn vE10854 S 11115 5 7
¢E1075 ¢Kn84 06 886 7 +10 ¢ EK73 O 4 3 104 5 410763 +8 022884
&#KKn63 #87 V68867 210972 &D V 4 3 104 5 *732 #Kn5 V22884
& DKn3 » KDKn109 « KD10
v Kn632 v93 v2
+ K93 +94 + KD954
#E54 #EKNnS53 +KD64
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
F4 F19 3vO-3 #4 150 91.0 10| C7 C9 44S= T 620 920 00| C8 C10 3NS+2 45 460 89.0 3.0
C7 C9 INV-3 &5 150 910 1.0 F6 F23 3« N+1 T 170 900 2.0| A9 A2 3NS+2 47 460 89.0 3.0
F6 F23 24 N= #A 110 870 50| F1I0 F20 34 S= v2 140 87.0 50| D11 D3 3NS+2 49 460 89.0 3.0
Cl6 C8 24 N= vK 110 87.0 50| C13 Cl1l 34S= T 140 870 50| FI13 F7 3NS+2 48 460 89.0 3.0
F9 F18 3¢ V-2 #2 100 79.0 13.0| B13 Bl 3#S+1 vJ 130 830 90| Cl1 C15 3NN+1 ¥4 430 820 10.0
Cl2 C15 2v0O-2 «Q 100 79.0 13.0|E103 E111 3#S+1 vJ 130 830 9.0| F1I0 F19 3NN+1 T 430 820 10.0
B13 Bl 2v0-2 4Q 100 79.0 13.0 F5 F21 3¢ N= #Q 110 80.0 12.0| D14 D8 3NN+1 42 430 820 10.0
D14 D7 2NO-2 4Q 100 79.0 130 A8 A3 4vDO-1 4K 100 77.0 150 F2 F14 3NS= ¢3 400 780 14.0
B16 B12 INV-2 #2 100 79.0 13.0| F16 F8 4v O-2 &K 100 770 150| B13 B2 2NS+3 49 210 750 17.0
E103 E111 2v O-2 43 100 79.0 13.0 FA4 F19 4v O-1 oK 50 73.0 190| C14 C7 INS+4 45 210 75.0 170
B9 B4 14 N= vK 80 72.0 20.0 F7 F14 49 O-1 «Q 50 730 19.0| F17 F9 3v0O-2 ¢4 200 72.0 20.0
F5 F21 INV-1 &4 50 60.0 32.0 F1 F13 44 S-1 vJ -100 67.0 25.0 Bl B16 2NN+1 42 150 56.0 36.0
B8 B1ll 2NO-1 2 50 60.0 32.0 B8 Bll 44 S-1 v2 -100 67.0 25.0 F1 F24 3#S+2 ¢7 150 56.0 36.0
D8 D11 INV-1 4 50 60.0 320 D14 D7 3¢ N-1 &Q -100 67.0 25.0 B4 B6 3¢ S+2 49 150 56.0 36.0
A9 A2 2vO-1 &4 50 60.0 32.0( C18 C10 44 S-1 T -100 67.0 25.0| D4 D6 3&#S+2 &5 150 56.0 36.0
A10 Al INV-1 44 50 60.0 320 A6 A5 3vO= 4Q -140 55.0 37.0 F5 F20 4¢ S+1 vK 150 56.0 36.0
Cl1 C3 2v0O-1 #A 50 600 320| B10 B2 3»vO= #A -140 550 37.0| A6 A5 24S+3 vK 150 56.0 36.0
D16 D12 2NO-1 «Q 50 600 32.0| D10 D2 3v O= 4K -140 55.0 37.0 F6 F22 24 S+3 vK 150 56.0 36.0
Cl9 C2 2v0O-1 #A 50 600 320| B15 B6 3vO= &K -140 55.0 37.0 B7 B15 INN+2 ¥4 150 56.0 36.0
C20 C5 INV-1 #4 50 60.0 320 F1I5 F2 2vO+1 4K -140 550 37.0| D7 D15 INS+2 43 150 56.0 36.0
E102 E105 INV-1 &T 50 60.0 32.0( D16 D12 2v O+1 4K -140 55.0 370| F11 F21 24 S+3 45 150 56.0 36.0
E108 E114 INV-1 46 50 60.0 32.0 [E108 E114 3v O= 4K -140 550 37.0| C12 C4 2¢ S+3 vK 150 56.0 36.0
E109 E110 Pass 48.0 44.0 |[E112 E107 3vy O= &K -140 55.0 37.0| F18 F4 3¢ S+2 vK 150 56.0 36.0
C4 C17 1a N-1 &7 -50 44.0 480 D3 D5 3vO+1 #A -170 33.0 59.0 |E101 E108 3¢ S+2 45 150 56.0 36.0
D15 D6 24 N-1 &8 -50 44.0 480 A4 A7 3vO+1 4K -170 33.0 59.0 |[E103 E106 4# S+1 45 150 56.0 36.0
Cl18 C10 24 S-1 +38 -50 44.0 480 D8 D11 3v O+1 4K -170 33.0 59.0 [E109 E114 24 S+3 vK 150 56.0 36.0
F7 F14 1lv O= &A -80 39.0 530 D9 D4 2¢v O+2 A -170 33.0 590 A4 A7 3#S+1 vK 130 31.0 610
F10 F20 1v O= 43 -80 39.0 53.0| A10 Al 3vO+1 4K -170 33.0 59.0 F8 F15 2¢ S+2 ¢K 130 31.0 61.0
D9 D4 INV= 44 -90 33.059.0( C11 C3 3vO+1 4K -170 33.0 590| D9 D12 3¢ S+1 49 130 31.0 61.0
C13 C1 INV= &2 -90 33.0 59.0| F11 F22 3v O+1 4K -170 33.0 59.0| D10 D5 34 S+1 49 130 31.0 61.0
E112 E107 INV=  &T -90 33.0 59.0| C12 C15 3v O+1 4K -170 33.0 59.0( C11 C18 3¢ S+1 ¥K 130 31.0 61.0
E113 E101 INV=  &T -90 33.0 590 B14 B7 3vy O+1 ¢9 -170 33.0 59.0| C17 C5 4¢ S= vK 130 31.0 61.0
F1 F13 2v O= 4] -110 23.0 69.0| D15 D6 2y O+2 &K -170 33.0 59.0( C19 C3 2#S+2 ¢K 130 310 61.0
A8 A3 2vO= ¢3 -110 23.0 69.0| C20 C5 3v O+1 &K -170 33.0 59.0 |E104 E112 2¢ S+2 49 130 31.0 61.0
D10 D2 2vO= 4] -110 23.0 69.0 |E102 E105 2v O+2 #A  -170 33.0 59.0 [E105 E107 3# S+1 ¢K 130 31.0 61.0
F11 F22 29» O= #Q -110 23.0 69.0 |[E109 E110 2v O+2 4K -170 33.0 59.0 [E113 E102 2¢ S+2 ¢K 130 31.0 61.0
Bl14 B7 2vO= 4Q -110 23.0 69.0 ([E113 E101 3v O+1 ¢4 -170 33.0 59.0| D13 D2 2NS= vK 120 19.0 73.0
F16 F8 2v O= &A -110 23.0 69.0( C4 C17 44DS-1 T -200 17.0 75.0| B14 B8 INN+1 ¥4 120 19.0 73.0
B3 B5 INV+1 &9 -120 13.0 79.0 |E104 E106 3y O+2 9 -200 17.0 75.0 |E110 E111 3¢ S= vK 110 16.0 76.0
A4 A7 INV+1 &2 -120 13.0 79.0 B3 B5 4v 0= 4K -420 10.0 820| B11 B3 2NN-1 v4 -50 14.0 78.0
B10 B2 INV+1 &2 -120 13.0 79.0 B9 B4 4vy 0= 4K -420 10.0 820 A8 A3 3NS-2 vK -100 6.0 86.0
B15 B6 INV+1 &9 -120 13.0 79.0 FO F18 4v O= &K -420 10.0 82.0 B9 B12 3NS-2 49 -100 6.0 86.0
E104 E106 2v O+1 &A -140 8.0 84.0| B16 B12 4v O= 4K -420 10.0 82.0| C9 C16 3NN-2 ¥5 -100 6.0 86.0
D3 D5 INV+2 &T -150 4.0 88.0| F17 F3 4v O= #A -420 10.0 82.0| A10 Al 3NS-2 vK -100 6.0 86.0
A6 A5 INV+2 &2 -150 4.0 88.0| A9 A2 4vDO= 9 -590 2.0 90.0| B10 B5 3NS-2 ¢K -100 6.0 86.0
F17 F3 INV+2 &2 -150 4.0 88.0| C16 C8 4¢vDO= +¢9 -590 2.0 90.0| C13 C2 3NS-2 T -100 6.0 86.0
F15 F2 INV+3 46 -180 0.0 92.0| C19 C2 4vDO= +¢9 -590 2.0 90.0| F16 F3 3NS-2 vK -100 6.0 86.0
- Cl4 49.6 - Cl4 49.6 - D16 53.5
- F24 394 - F24 394 - C20 49.8
D13 - 46.7 D13 - 46.7 - F23 41.9
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4 4 KD9 Basta kontrakt 5 475 Basta kontrakt 6 & Kn5 Basta kontrakt
Vast v D32 4v V =-620 Nord v 87654 6NT V =-990 Ost v 1083 3v S =140
Alla + DKn10 NS + K6542 ov + KDKn
#E872 & ¢ v & NT *4 & ¢ v & NT #ED1032 & ¢ v & NT
2106542 «E N7 336 4 4 E9 « KD82 N14341 « ED1083 4K42 N56 9 45
v75 vEKKn1064 S 7 3 3 5 4 vD102 vEKKn3 S24341 vE6 v K97 S56 945
¢E754 ¢ K98 05 9 107 9 ¢ E83 ¢ DKn O 108 109 11 ¢52 ¢ 10764 O7 6 488
#63 #Kn95 V59 107 9 #KD763 #985 VvV 108 109 12 #Kn954  #K87 V76488
4 Kn873 » Kn10643 976
v98 v9 v DKn542
4632 + 1097 ¢ E983
+#KD104 #EKn102 »6
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
Cl C15 3vO-1 48 100 90.0 20 F7 F24 6NO-3 &A 150 910 10| F14 F8 34DV-1 #A 200 92.0 0.0
F10 F19 4v O-1 43 100 90.0 20| B11 B6 6NO-3 43 150 91.0 10| A5 A8 2vS+2 45 170 90.0 2.0
Cll C18 24 V-1 +Q 100 90.0 20 B9 Bl14 4v O-2 4J 100 830 90| Al A3 3vyS= ¢5 140 80.0 120
F5 F20 3#N-1 vA -100 850 7.0| AI0 A2 4v0O-2 v9 100 830 9.0 F1 F23 3vS= 48 140 80.0 12.0
F11 F21 3#N-1 vA -100 850 70| Cl10 C16 6NO-2 44 100 83.0 9.0 F2 F13 2v S+1 48 140 80.0 12.0
E113 E102 1v O+1 &7 -110 82.0 10.0| C13 C3 6NO-2 #A 100 830 9.0| A1I0 A2 2vS+1 49 140 80.0 12.0
Al A3 2v O+1 43 -140 70.0 22.0| D16 D2 6NO-2 44 100 83.0 90| B10 Bl 3vS= 48 140 80.0 12.0
F2 F14 2v O+1 «K -140 70.0 22.0|E102 E109 6NO-2 J 100 830 9.0| F11 F20 2v S+1 A 140 80.0 12.0
D4 D6 3vO= &K -140 700 220| Cl1 C5 6NO-1 &3] 50 66.0 26.0( B13 B3 2vS+1 4T 140 80.0 12.0
A5 A8 3vy O= #K -140 70.0 22.0 F2 F13 6NO-1 &4 50 66.0 26.0( B16 B2 3vS= vA 140 80.0 12.0
A9 A4 2v O+l #4 -140 70.0 22.0 F3 F15 6NO-1 #A 50 66.0 26.0|E105 E101 2v S+1 &5 140 80.0 12.0
B9 B12 2v O+1 &K -140 70.0 220 A5 A8 4v O-1 &J 50 66.0 26.0 F9 F16 2vS= s#A 110 69.0 23.0
D9 D12 1v O+2 &K -140 70.0 220| D5 D7 6NO-1 #A 50 66.0 260 C15 C2 2vS= 45 110 69.0 23.0
D13 D2 2v O+1 a7 -140 70.0 22.0| A9 A4 4v O-1 7 50 66.0 26.0 F6 F21 34 V-1 ¢K 100 63.0 29.0
Cl4 C7 1vO+2 #K -140 70.0 22.0| F11 F20 5NO-1 #4 50 66.0 26.0( C13 C3 24 V-1 ¢K 100 63.0 29.0
F17 F9 2vO+1 &K -140 70.0 220 D13 D3 6NO-1 &J 50 66.0 26.0 [E111 E112 24 V-1 ¢K 100 63.0 29.0
E109 E114 3v O= &K -140 70.0 22.0| B16 B2 6NO-1 &J 50 66.0 26.0 [E113 E103 34 V-1 ¢K 100 63.0 29.0
D7 D15 2v O+2 &K -170 48.0 44.0| C18 C12 6NO-1 43 50 66.0 26.0 B5 B7 4vS-1 43 -50 54.0 38.0
C8 Cl10 3vy O+1 #K  -170 48.0 440| F18 F10 6NO-1 43 50 66.0 26.0| A7 A6 INN-1 ¢4 -50 54.0 38.0
C9 C16 3v O+1 &K -170 48.0 440 F14 F8 3v O= 43 -140 54.0 38.0 F7 F24 3v S-1 48 -50 54.0 38.0
A0 A2 3v O+1 &K -170 48.0 44.0 B5 B7 3NO= v9 -400 52.0 40.0] A9 A4 2&#N-1 oK -50 54.0 38.0
B10 B5 3v O+1 &4 -170 48.0 44.0 F1 F23 4v O= ¢9 -420 50.0 42.0| C18 C12 4v S-1 A -50 54.0 38.0
D10 D5 3v O+1 a2 -170 48.0 44.0 F6 F21 3NV+1 ¢4 -430 39.0 53.0| C4 C19 3vDS-1 A -100 47.0 45.0
C13 C2 2vO+2 #K -170 48.0 440| D9 D14 3NO+1 & -430 39.0 53.0| C10 C16 3v S-2 5 -100 47.0 45.0
B14 B8 3v O+1 &K -170 48.0 44.0 FO9 F16 3NV+1 ¢4 -430 39.0 53.0| C1 C5 24V= & -110 35.0 57.0
E101 E108 3v O+1 &K -170 48.0 44.0| B10 Bl 3NO+1 3 -430 39.0 53.0 F3 F15 24 V= ¢K -110 35.0 57.0
E103 E106 3v O+1 &K -170 48.0 44.0| D12 D4 3NO+1 &2 -430 39.0 53.0| D5 D7 24V= ¢K -110 35.0 57.0
E104 E112 2v O+2 &K -170 48.0 44.0| B13 B3 3NO+1 44 -430 39.0 53.0 B8 B15 24 V= ¢K -110 35.0 57.0
Bl B16 2v O+3 #4 -200 27.0 65.0| F19 F5 3NO+1 ] -430 39.0 53.0| D8 D15 24 V= ¢K -110 35.0 57.0
B4 B6 3#N-2 vA -200 27.0 65.0 |[E104 E107 BNO+1 43 -430 39.0 53.0| C9 Cl1l1 24 V= ¢K -110 35.0 57.0
F8 F15 3v O+2 &K -200 27.0 65.0 |[E106 E108 3NO+1 43 -430 39.0 53.0| D12 D4 24 V= ¢J -110 35.0 57.0
B13 B2 34 S-2 v7 -200 27.0 65.0 |E114 E110 3NO+1 & -430 39.0 53.0| D13 D3 24 V= ¢K -110 35.0 57.0
F13 F7 3vO+2 &K -200 27.0 65.0 B8 B15 5v V= &4 -450 28.0 64.0| D16 D2 24 V= ¢K -110 35.0 57.0
D14 D8 24 S-2 w7 -200 27.0 65.0] A1 A3 3NO+2 +¢9 -460 17.0 75.0 |E104 E107 24 V= ¢K -110 35.0 57.0
F16 F3 3vy O+2 &K -200 27.0 650 C4 C19 5NO= &J -460 17.0 75.0| D9 D14 34 V= ¢K -140 19.0 73.0
Cl7 C5 2vO+3 #K -200 27.0 650 A7 A6 3NO+2 43 -460 17.0 75.0| D11 D6 1a V+2 3 -140 19.0 73.0
Cl9 C3 3#N-2 #A -200 27.0 650| C9 C11 5NO= &J -460 17.0 75.0| B12 B4 24 V+1 T -140 19.0 73.0
E105 E107 3# N-2 «4A -200 27.0 65.0| D11 D6 3NO+2 43 -460 17.0 75.0| C20 C7 24 V+1 ¢K  -140 19.0 73.0
A7 A6 INO+4 &K -210 16.0 76.0( B12 B4 3NO+2 43 -460 17.0 75.0 |E106 E108 24 V+1 K -140 19.0 73.0
B7 B15 3NN-3 vA -300 12.0 80.0( C14 C8 5NV= v8 -460 17.0 75.0 |E114 E110 34 V= ¢K -140 19.0 73.0
Bi1l B3 3#N-3 «A -300 12.0 80.0| C20 C7 3NO+2 4 -460 17.0 75.0 B9 Bl14 24 N-3 4K -150 10.0 82.0
Cl2 C4 24 S-3 v5 -300 12.0 80.0 |E105 E101 3NO+2 &T -460 17.0 75.0| F17 F4 2NO+1 v4 -150 10.0 82.0
F1 F24 34 S-4 5 -400 7.0 85.0 |E113 E103 3N O +2 %2 -460 17.0 75.0 |E102 E109 2# N-3 &K -150 10.0 82.0
F18 F4 4#N-4 vA -400 7.0 850| D8 D15 5NO+1 43 -490 4.0 88.0| B11 B6 24 V+2 &2 -170 3.0 89.0
D11 D3 4v O+1 &K -650 4.0 88.0| C15 C2 3NO+3 #J -490 4.0 88.0| C14 C8 24 V+2 ¢K -170 3.0 89.0
E110 E111 4vDO= 43 -790 2.0 90.0| F17 F4 3NV+3 v4 -490 4.0 88.0| F18 F10 24 V+2 ¢ -170 3.0 89.0
F6 F22 3vyDO+1 #K  -930 0.0 92.0 |[E111 E112 6NO=  &T -990 0.0 92.0| F19 F5 24 V+2 3 -170 3.0 89.0
- D16 53.5 - C17 44.6 - C17 44.6
- C20 49.8 | D10 - 475 D10 - 475
- F23 41.9 - F22 44.8 - F22 44.8
7 & DKn942 Basta kontrakt 8 ~E8 Basta kontrakt 9 4« Kn93 Basta kontrakt
Syd v4 5v V =-650 Vast v Kn1087 4v V =-420 Nord v EKn1092 5v N =450
Alla + EK8 Ingen 4976 ov +E9
#10542 & ¢ v & NT #D973 & ¢ v & NT #532 & ¢ v & NT
» 865 «E73 N26 26 2 D63  aKn74 N553565 « E76 « D852 N 118 119 10
vEKD1076 ¢98 S26 26 2 vD965 vEK43 S553565 vK8 v 653 S 118 119 10
+97 ¢ Kn652 O 116 117 9 410852 ¢ EK O8 8 107 8 ¢ DKn632 ¢ 1084 025232
»87 #EKDKn V 116 117 9 &54 #EK62 vV 8 8 107 8 &E64 #1097 V25232
« K10 & K10952 4 K104
v Kn532 v2 vD74
+D1043 ¢ DKn43 + K75
#963 #Kn108 #KDKn8
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
Cl4 C9 4v V-2 ¢A 200 920 0.0| AI0O A3 3NO-2 #J 100 89.0 3.0 F4 F15 4v N+1 ¢4 450 83.0 9.0
F4 F16 24 N= v9 110 90.0 20| B15 B9 3NO-2 +Q 100 89.0 3.0 F5 F17 4v N+1 ¢4 450 83.0 9.0
Bl B5 4v0-1 3 100 830 90| D15 D9 3NO-2 #J 100 89.0 3.0 D7 D9 4v N+1 4 450 830 9.0
F1 F22 4vV-1 ¢K 100 83.0 9.0(E112 E101 3NO-2 2 100 890 30| F11 F18 4vy N+1 ¢4 450 83.0 9.0
B3 B16 3NO-1 ¢4 100 83.0 9.0 F2 F24 3NO-1 42 50 64.0 28.0( D13 D5 4vS+1 ¢Q 450 83.0 90
A6 A9 3NO-1 K 100 830 9.0 B3 B16 3NV-1 &7 50 64.0 28.0| C16 C12 4v N+1 ¢4 450 83.0 9.0
B10 Bl14 3NO-1 3 100 83.0 9.0 F4 F16 2NO-1 3 50 64.0 280 D16 D4 4v S+1 ¢Q 450 83.0 9.0
B12 B7 3NO-1 4T 100 830 90| A6 A9 3vO-1 +J 50 64.0 28.0 [E106 E109 4v S+1 ¢Q 450 83.0 9.0
F18 F5 2v V= &J -110 76.0 16.0| D6 D8 3NO-1 42 50 64.0 28.0 [E107 E103 4v S+1 2 450 83.0 9.0
F3 F14 2NO= &K -120 72.0 200 C7 C17 3NO-1 9 50 64.0 28.0 ([E112 E114 4v N+1 T 450 83.0 9.0
F10 F17 2NO= &K -120 72.0 200 A8 A7 3NO-1 45 50 64.0 280 A1 A5 3NS+1 ¢Q 430 70.0 220
E106 E102 2NO= &K -120 72.0 20.0 F8 F13 3NO-1 &2 50 64.0 280 A2 A4 3NS+1 6 430 70.0 22.0
E113 E104 3v V= ¢K -140 68.0 240| C10 C12 3NO-1 &T 50 64.028.0| D12 D3 3NS+1 ¢Q 430 70.0 22.0
A2 A4 3vyV+l ¢K -170 56.0 36.0| D10 D14 3NO-1 42 50 64.0 28.0| D2 D6 4v N= 45 420 66.0 26.0
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F2 F24 2vV+2 ¢A -170 56.0 36.0| F10 F17 4v O-1 45 50 64.0 28.0 B2 B6 2y N+3 T 200 49.0 43.0
B6 B8 2vV+2 ¢A -170 56.0 36.0| B11 B2 3NO-1 42 50 64.0 28.0 F2 F23 3v N+2 42 200 49.0 43.0
F8 F13 2vV+2 ¢A -170 56.0 36.0( D11 D2 3NO-1 42 50 64.0 28.0 F3 F13 1v S+4 ¢Q 200 49.0 43.0
Al10 A3 3vV+l «Q -170 56.0 36.0| B13 B4 3NO-1 45 50 64.0 280 A6 A9 2¢vN+3 T 200 49.0 43.0
D10 D14 3v O+1 3 -170 56.0 36.0| C13 C4 4v O-1 +Q 50 64.0 28.0 B7 B9 2v N+3 ¢4 200 49.0 43.0
D12 D7 3vV+l ¢A -170 56.0 36.0| C15 C3 3NO-1 &2 50 64.0 2800 A8 A7 2¢vN+3 T 200 49.0 43.0
C13 C4 3vV+l ¢A -170 56.0 36.0| C19 C5 3NO-1 a2 50 64.0 28.0 FO F14 2¢v N+3 42 200 49.0 43.0
F1I5 F9 2v O+2 4K -170 56.0 36.0| F20 F6 3NO-1 42 50 64.0 280 C11l C1 1vN+4 T 200 49.0 43.0
E105 E108 3v V+1 A  -170 56.0 36.0 |[E106 E102 3NO-1 42 50 64.0 280( B12 B3 2¢vN+3 ¢T 200 49.0 43.0
E107 E109 3v V+1 A -170 56.0 36.0 |[E113 E104 3NO-1 45 50 64.0 28.0( C14 C10 3v N+2 ¢4 200 49.0 43.0
A8 A7 24 N-2 &A -200 41.0 51.0 (E114 E111 4v O-1 «A 50 64.0 28.0| D14 D11 2v N+3 4 200 49.0 43.0
Cl10 C12 2vV+3 ¢A -200 410 510| C14 C9 140= v2 -70 42.0 50.0( B15 B10 2v N+3 ¢4 200 49.0 43.0
Cl19 C5 34 N-2 &A -200 41.0 51.0 F1 F22 2NO= 45 -120 35.0 57.0| D15 D10 2v N+3 T 200 49.0 43.0
F19 F11 2v O+3 +4 -200 41.0 51.0 F3 Fl14 2NO= a2 -120 35.0 57.0| F16 F10 3v N+2 ¢4 200 49.0 43.0
D13 D4 3NO= ¢4 -600 36.0 56.0 F7 F23 2NO= a2 -120 35.0 57.0| C20 C9 1v N+4 8 200 49.0 43.0
Al A5 4vV= ¢A -620 18.0 740 | C16 C11l 2NO= 42 -120 35.0 57.0 |E108 E110 3v S+2 3 200 49.0 43.0
Cl C18 4vV= ¢K -620 18.0 740 F18 F5 2NO= 45 -120 35.0 57.0 F1 F21 2NS+2 ¢Q 180 27.0 65.0
D3 D16 4v O= ¢3 -620 18.0 74.0 |E103 E110 2NO= 42 -120 35.0 57.0| C2 C18 INS+3 2 180 27.0 65.0
D6 D8 4vV= ¢A -620 18.0 740| C8 C20 2v V+1 +6 -140 28.0 64.0| A10 A3 INS+3 +3 180 27.0 65.0
C7 C17 4y V= ¢A -620 18.0 740 F15 F9 2NO+1 42 -150 26.0 66.0| B16 B4 INS+3 ¢2 180 27.0 65.0
F7 F23 4vV= ¢K -620 18.0 74.0 Bl B5 3NO= &7 -400 20.0 72.0 |E101 E102 INS+3 &7 180 27.0 65.0
C8 C20 4vV= ¢A -620 18.0 740 A2 A4 3NO= 49 -400 20.0 72.0 |E104 E111 INS+3 ¢2 180 27.0 65.0
Bll B2 4vV= ¢A -620 180 740| B12 B7 3NO= &2 -400 20.0 72.0| B13 B5 2v¥ N+2 ¢4 170 19.0 73.0
D11 D2 4v O= ¢3 -620 18.0 74.0| D12 D7 3NO= 49 -400 20.0 72.0 |E113 E105 2v S+2 #4 170 19.0 73.0
B13 B4 4vV= ¢A -620 18.0 74.0 |[E105 E108 3NO= 42 -400 20.0 72.0| C15 C4 INS+2 +3 150 14.0 78.0
B15 B9 4v V= ¢A -620 180 740| Al A5 4v O= 49 -420 8.0 84.0| C17 C8 2&#S+3 ¢6 150 14.0 78.0
Cl5 C3 4vV= A -620 180 740| Cl1 C18 49y O= ¢Q -420 80 840| F19 F6 INS+2 ¢Q 150 14.0 78.0
D15 D9 4vV= ¢A -620 180 740| D3 D16 4vV= aA -420 8.0 84.0 F7 F22 2v N+1 &2 140 8.0 84.0
F20 F6 4vV= ¢A -620 18.0 74.0 B6 B8 4vO= &J -420 8.0 84.0 F8 F24 2v N+1 8 140 8.0 84.0
E103 E110 4v V= ¢A -620 18.0 740| D13 D4 4v O= &J -420 8.0 840| C13 C5 3v N= T 140 8.0 84.0
E112 E101 4v O= &K -620 18.0 740| F19 F11 4vO= ¢Q -420 8.0 84.0| C3 C7 INS+1 ¢4 120 4.0 88.0
E114 E111 4v V= ¢A -620 18.0 74.0|E107 E109 4v O= #2 -420 8.0 84.0| B14 Bl1l 2NS-1 +¢2 -50 2.0 90.0
Cl6 Cl1 4vV+1l «Q -650 0.0 92.0| B10 Bl14 34DS-4 v¥5 -800 0.0 92.0 Bl B8 3NS-2 ¢2 -100 0.0 92.0
- D5 48.1 - D5 48.1 - D8 49.3
c2 - 57.3 c2 - 57.3 - C19 47.4
- F21 43.3 - F21 43.3| F20 - 38.1
10 4 KDKn873 Basta kontrakt 11 4 DKn Basta kontrakt 12 4842 Basta kontrakt
Ost v 106 7v OD-51400 |Syd v KDKn62 2NT SD-1-100 |Vast v EKKn942 ANT N =630
Alla 4 Kn3 Ingen + 542 NS + D109
»K107 & ¢ v & NT #D54 & ¢ v & NT »3 & ¢ v & NT
465 49 N 7 125 1212 #8543 « E1096 N6 6 857 aKD7  &Kn3 N 7 7 109 10
vKD7 vKn985432 S 7 125 1212 v 105 vE9 S66 857 v 86 v73 S 7 7 101010
¢ 105 + D64 050800 + Kn9 ¢ E10763 077 485 ¢ K543 ¢ Kn862 06 6 233
#Kn98654 #E2 V50800 #E10976 #82 V77485 #10952 #EKn876 V66233
4 E1042 4 K72 4 E10965
vE v 8743 vD105
+ EK9872 + KD8 ¢ E7
«D3 #KKn3 «KD4
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
F3 F13 64 S= &6 1430 90.0 2.0 B2 B9 3v¥S= ¢J 140 80.0 120| C16 Cl1 6vy N= &A 1430 920 0.0
D16 D4 64 N= &A 1430 900 20| D2 D9 3vS= 43 140 80.0 12.0 F1 F20 4v N+2 &A 680 89.0 3.0
E112 E114 64 N= &5 1430 900 20| A3 A5 3vS= &A 140 80.0 120| C18 C3 4vy N+2 #A 680 89.0 3.0
C2 C18 5vDO-3 ¢A 800 840 80| D3 D7 2¢vN+1 A 140 80.0 12.0 Bl B4 4v N+1 ¢2 650 70.0 22.0
B13 B5 5vDV-3 «A 800 840 8.0 B8 B10 3vy S= &T 140 80.0 12.0 B2 B9 4v N+1 &J 650 70.0 22.0
D13 D5 5vDO-3 ¢A 800 840 80| D8 D10 3v¥S= &A 140 80.0 12.0 F3 F24 4v N+1 &A 650 70.0 22.0
F1 F21 44 N+3 v9 710 75.0 17.0 FO F13 3v N= &8 140 80.0 120| C4 C8 4¢v N+l 46 650 70.0 22.0
C3 C7 44 N+3 v4 710 75.0 17.0| B14 B12 2v N+1 9 140 80.0 12.0 FA Fl14 4vy N+1 ¢2 650 70.0 22.0
F4 F15 44 N+3 v2 710 75.0 170| C14 C11 3v N= #8 140 80.0 12.0 B5 B16 4v S+1 ¥8 650 70.0 22.0
B16 B4 44 N+3 v5 710 75.0 17.0 |E102 E103 3v N= #8 140 80.0 120| D5 D16 4v N+1 43 650 70.0 22.0
Cl7 C8 44 N+3 v2 710 75.0 17.0|E105 E112 3v N= #8 140 80.0 12.0 F5 F16 4v N+1 &A 650 70.0 22.0
E113 E105 44 N+3 #A 710 750 17.0|E109 E111 3v S= &A 140 80.0 12.0 F6 F18 4v N+1 &6 650 70.0 22.0
Bl B8 44 N+2 #A 680 37.0 55.0 (E113 E106 3* N= vA 140 80.0 12.0| D8 D10 4v N+1 &A 650 70.0 22.0
A2 A6 44 N+2 #A 680 37.0 55.0 F1 F20 4v N-1 ¢A -50 42.0 50.0 F8 F23 4v N+1 2 650 70.0 22.0
B2 B6 44 N+2 #A 680 37.0 55.0 B3 B7 4vS-1 46 -50 42.0 50.0( C10 C20 4v N+1 J 650 70.0 22.0
D2 D6 44 N+2 &A 680 37.0 55.0 F3 F24 4v S-1 +9 -50 42.0 50.0( C14 C11 4v N+1 «J 650 70.0 22.0
F2 F23 44 N+2 &A 680 37.0550| C4 C8 3vS-1 ¢J -50 42.0 50.0| D14 D12 4v N+1 &A 650 70.0 22.0
A3 A5 44 N+2 #A 680 37.0 55.0 B5 B16 3NS-1 ¢J -50 42.0 500 C19 C7 4v N+1 7 650 70.0 22.0
A7 Al 44 N+2 v5 680 37.0 550 D5 D16 4v N-1 43 -50 42.0 50.0 (E105 E112 4v N+1 «J 650 70.0 22.0
B7 B9 44 N+2 #A 680 37.0 55.0 F6 F18 2NN-1 3 -50 42.0 50.0 ([E108 E104 4v N+1 «J 650 70.0 22.0
D7 D9 44 N+2 &A 680 37.0 55.0| A7 Al 4vy N-1 48 -50 42.0 50.0f A3 A5 3NS+1 3 630 520 40.0
F7 F22 44 N+2 #&A 680 37.0 55.0 F8 F23 3v N-1 &A -50 42.0 50.0 F10 F15 4v N= #J 620 45.0 47.0
A9 A8 44 N+2 #A 680 37.0 550 A9 A8 4v N-1 46 -50 42.0 50.0( B11 B15 4v N= #J 620 45.0 47.0
FO F14 44 N+2 &#A 680 37.0 55.0| ALI0 A4 4v N-1 @A -50 42.0 50.0( D11 D15 4v N= #J 620 45.0 47.0
Al0 A4 44 N+2 &A 680 37.0 55.0| F10 F15 4v N-1 #8 -50 42.0 50.0 F21 F7 4vy N= ¢2 620 45.0 47.0
Cll1 C1 44 N+2 vJ 680 37.055.0| B11 B15 3v S-1 ¢J -50 42.0 50.0 (E109 E111 4v N= #J 620 45.0 47.0
F11 F18 44 N+2 #A 680 37.0 55.0| D11 D15 4vy S-1 T -50 42.0 50.0 (E113 E106 4y N= #J 620 45.0 47.0
B12 B3 44 N+2 #A 680 37.0550(| Cl2 C2 4vy N-1 46 -50 42.0 50.0( F17 F11 3NS= 3 600 38.0 54.0
D12 D3 44 N+2 &A 680 37.055.0| D13 D6 4y S-1 «4 -50 42.0 50.0 (E101 E114 3v N+2 &A 200 35.0 57.0
C13 C5 44 N+2 &A 680 37.0 55.0| D14 D12 4y N-1 48 -50 42.0 50.0 (E107 E110 2v N+3 2 200 35.0 57.0
B14 Bll 44 N+2 #A 680 37.0550| Cl6 Cl 4vy N-1 46 -50 42.0 50.0( A2 A6 2vy N+2 ¢3 170 29.0 63.0
Cl4 C10 44 N+2 #A 680 37.0 55.0| C18 C3 4v S-1 #A -50 42.0 50.0 B3 B7 3v¥yN+1 ¢6 170 29.0 63.0
D14 D11 44 N+2 &A 680 37.0 55.0| C19 C7 4vy N-1 48 -50 42.0 50.0f D3 D7 3vN+1 «J 170 29.0 63.0
B15 B10 54 N+1 #A 680 37.0 55.0| F21 F7 4v S-1 #A -50 42.0 500 C15 C5 3vy N+1 &A 170 29.0 63.0
Cl15 C4 44 N+2 ¥8 680 37.0550| F22 F2 2y N-1 48 -50 42.0 50.0 F22 F2 24 S+1 2 140 24.0 68.0
D15 D10 54 N+1 &A 680 37.0 55.0|E101 E114 3v S-1 +¢J -50 42.0 50.0| D2 D9 4v N-1 &J -100 13.0 79.0
Cl6 C12 54 N+1 #A 680 37.0 55.0|E107 E110 3v N-1 3 -50 42.0 50.0| A7 Al 4vy N-1 & -100 13.0 79.0
F16 F10 44 N+2 ¢8 680 37.0 55.0 |E108 E104 4y N-1 8 -50 42.0 50.0 B8 B10 4v N-1 v7 -100 13.0 79.0
F19 F6 44 N+2 #A 680 37.0 55.0 Bl B4 4v S-2 #4 -100 10.0 82.0| A10 A4 44 S-1 ¢4 -100 13.0 79.0
C20 C9 44 N+2 &A 680 37.0 550 A2 A6 4vS-2 +9 -100 10.0 82.0| C12 C2 4v S-1 &K -100 13.0 79.0
E104 E111 44 N+2 &#A 680 37.0 55.0 F4 F14 4v S-2 ¢9 -100 10.0 82.0| B13 B6 4y N-1 & -100 13.0 79.0
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E106 E109 44 N+2 &A 680 37.0 550 C10 C20 4v S-2 +J -100 10.0 82.0| D13 D6 4v N-1 4] -100 13.0 79.0
E107 E103 44 N+2 &A 680 37.0 55.0| B13 B6 4vS-2 +¢J -100 10.0 82.0| B14 B12 4v N-1 6  -100 13.0 79.0
E108 E110 44 N+2 #A 680 37.0550| C15 C5 4vyN-2 ¢A -100 10.0 820| C17 C9 4vN-1 #6 -100 13.0 79.0
F8 F24 3NS+1 &6 630 4.0 88.0| F17 F11 4v S-2 +¢J -100 10.0 82.0 |E102 E103 4v N-1 4] -100 13.0 79.0
F5 F17 4vDO-2 «A 500 2.0 90.0 F5 F16 24 V= vJ -110 1.0 91.0 F9 F13 6v N-2 #A -200 2.0 90.0
E101 E102 3¢ S+4 v7 190 00920 C17 C9 24 O= ¥3 -110 10910| A9 A8 6vyN-3 ¥3 -300 0.0920
- D8 49.3 - D4 42.0 - D4 42.0
- C19 47.4 - F19 26.3 - F19 26.3
F20 - 38.1 C13 - 48.0 C13 - 48.0
13 498 Basta kontrakt 14 «EDI10 Basta kontrakt 15 47652 Basta kontrakt
Nord v 9872 6NT O =-1440 |Ost v Kn6 ANT S =430 Syd v D97 3NT V =-400
Alla 4109875 Ingen ¢ KKng4 NS ¢ Kn8765
*Kn5 & ¢ v & NT #E1082 & ¢ v & NT *E & ¢ v & NT
4 Knl1065 & KD7432 N45411 # 863 « K75 N 9 108 1010 10 « EDKn93 N46 544
vKKn10 vED S45411 v1083  vE9542 S 8 108 1010 vKn842 vK53 S46544
¢E3 ¢ K42 09 8 8 1212 +D106 ¢ 752 043533 ¢ K1043 ¢ E2 097879
#EK87 4109 vV 9 8 8 1212 #DKn75 #K9 V43533 #D1093 K84 V978729
o E 4 Kn942 4 K84
v 6543 v KD7 vE106
+ DKn6 ¢ E93 + D9
#D6432 #643 #Kn7652
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
B9 Bll 34 O+2 ¢Q -200 920 00| Al A9 2¢vDO-3 42 500 920 00| D4 D11 24 0-2 +Q 100 920 0.0
F6 F17 44 O+1 +Q -650 89.0 3.0 F1 F19 3NN+1 v9 430 770 150| Al A9 340-1 v¥6 50 83.0 9.0
A8 A2 44 O+1 ¢Q -650 89.0 30| C5 C9 3NN+1 v2 430 77.0 15.0 F5 F14 3NV-1 ¢Q 50 830 90
Bl Bl14 44 O+2 6 -680 61.0 31.0 F5 F15 3NN+1 ¥2 430 77.0 15.0 F7 F19 3NO-1 42 50 83.0 9.0
F1 F19 44 O+2 ¢ -680 61.0 31.0| B9 B11 3NN+1 ¥3 430 770 150| C9 C19 3#0-1 +Q 50 830 9.0
B2 B5 44 O+2 «A -680 61.0 31.0 F9 F24 3NN+1 ¥4 430 77.0 15.0| A10 A5 3NV-1 3 50 83.0 9.0
F2 F21 44 O+2 ¢Q -680 61.0 31.0( A1I0 A5 3NN+1 v2 430 77.0 150| C17 Cl1l1 2NV-1 +6 50 83.0 9.0
A3 A7 44 O+2 +Q -680 61.0 31.0( F11 F16 3NN+1 v2 430 77.0 150|E107 E102 3v V-1 &A 50 83.0 9.0
D3 D10 44 O+2 #4 -680 610 31.0| B13 B7 3NN+1 v2 430 77.0 15.0|E109 E112 34 V-1 +Q 50 83.0 9.0
B4 B8 44 O+2 ¢Q -680 61.0 31.0( B16 B6 3NN+1 &5 430 77.0 150 F23 F9 14 O= +¢9 -80 74.0 18.0
FA F13 44 O+2 #J] -680 61.0 310 C16 C2 3NN+1 ¥5 430 770 150| D3 D6 INV= 45 -90 72.0 20.0
C5 C9 440+2 #4 -680 61.0 31.0( D16 D6 3NN+1 ¥5 430 770 150| C18 C5 2¢ N-1 «A -100 70.0 22.0
C7 C13 44 V+2 +Q -680 61.0 31.0( C18 C4 3NN+1 v4 430 770 150| C15 C7 24 O= <vA -110 67.0 25.0
D9 D11 44 O+2 #2  -680 61.0 31.0|E103 E104 3NN+1 v2 430 77.0150| F21 F8 24 O= +Q -110 67.0 25.0
F9 F24 44 O+2 ¢Q -680 61.0 31.0(E108 E111 3NN+1 ¥4 430 770 150| C2 C4 2NV= 46 -120 57.0 35.0
F10 F14 44 O+2 v6 -680 61.0 31.0| Bl B14 44 N= v9 420 62.0 300 A3 A7 INO+l1 &5 -120 57.0 35.0
F11 F16 54 O+1 &4 -680 61.0 31.0 F2 F21 3NN= v2 400 530390| B5 B9 INV+l 5 -120 57.0 35.0
B12 B15 44 O+2 +Q -680 610 31.0| B4 B8 3NN= 45 400 53.0390| D5 D9 INO+1 3 -120 57.0 35.0
B13 B7 44 O+2 ¢Q -680 61.0 31.0| D9 D11 3NN= ¥2 400 53.0 39.0| B10 B12 INO+1 #2 -120 57.0 35.0
D13 D7 44 O+2 v4 -680 61.0 31.0( C14 C12 3NN= +v5 400 530390 B13 B8 2NO= &5 -120 57.0 35.0
Cl4 Cl12 44 O+2 ¥3 -680 61.0 31.0| F23 F3 3NN= ¥v2 400 53.0 39.0|E110 E106 INV+1 5 -120 57.0 35.0
Bl16 B6 44 O+2 v6  -680 61.0 31.0|E106 E101 3NN= ¥v2 400 53.0 39.0|E114 E103 INO+1 5 -120 57.0 35.0
Cl8 C4 54 O+1 v6 -680 61.0 31.0|E109 E105 3NS= #5 400 53.039.0( Cl1 Ci14 24 O+1 v6  -140 45.0 47.0
F20 F7 44 O+2 ¢Q -680 61.0 31.0 E114 E102 3NN= ¢5 400 53.039.0 B4 B1ll 14 O+2 &7 -140 45.0 47.0
F22 F8 44 O+2 +Q -680 61.0 31.0| C8 C19 INN+3 v2 180 42.0 50.0| D10 D12 24 O+1 vA -140 45.0 47.0
E103 E104 54 O+1 &2  -680 61.0 31.0| D13 D7 2NN+2 v4 180 42.0 50.0| B15 Bl 24 O+1 +Q -140 45.0 47.0
E106 E101 44 O+2 &2 -680 61.0 31.0| C17 C10 INS+3 3 180 42.0 50.0 F1 F18 2NV+1 46 -150 29.0 63.0
E113 E107 44 O+2 ¢Q -680 61.0 31.0| B2 B5 34 S+1 &Q 170 34.0580| D2 D14 INO+2 5 -150 29.0 63.0
E114 E102 44 O+2 #3 -680 610 31.0| D3 D10 24 S+2 ¢3 170 340580| B3 B6 2NV+1l 45 -150 29.0 63.0
Al A9 64 O= &3 -1430 18.0 74.0 F4 F13 14 S+3 T 170 34.0 58.0 F3 F22 INO+2 %2  -150 29.0 63.0
Cl C3 640= +¢Q -1430 18.0 74.0 F6 F17 14 S+3 ¥8 170 340 580| A4 A6 INO+2 #2  -150 29.0 63.0
D2 D5 64 O= #2 -1430 18.0 74.0|E110 E112 24 S+2 ¥8 170 34.0 580| B7 B16 2NV+l1 46 -150 29.0 63.0
B3 B10 64 O= ¢Q -1430 18.0 740| F10 F14 INO-3 42 150 27.0 650| D7 D16 2NO+1 6  -150 29.0 63.0
A4 A6 64 O= ¢Q -1430 18.0 740| F22 F8 2NN+1 45 150 27.0 65.0| F10 F13 INO+2 &5 -150 29.0 63.0
D4 D8 64 O= ¢Q -1430 18.0 74.0| D12 D15 24 S+1 3 140 24.068.0| D13 D8 INO+2 #2 -150 29.0 63.0
C8 C19 64 O= #4 -1430 180 740 C1 C3 INS+1 ¥3 120 190 730| F20 F2 INO+2 2 -150 29.0 63.0
A0 A5 64 O= &2 -1430 18.0 740 D2 D5 2NN= v2 120 19.0 73.0(E104 E105 2NV +1 45 -150 29.0 63.0
Cll1 C20 64 O= v6 -1430 18.0 740| A4 A6 2NN= ¢4 120 19.0 73.0(E111 E101 INO+2 &5 -150 29.0 63.0
D12 D15 64 O= ¢6 -1430 18.0 740 A8 A2 2NN= v2 120 19.0 73.0( A8 A2 24 0+2 +Q -170 16.0 76.0
Cle C2 64 O= +Q -1430 180 740| F20 F7 24 S= 8 110 14.0 78.0|E113 E108 INV+3 ¢4  -180 14.0 78.0
D16 D6 64 O= #A -1430 18.0 74.0 (E113 E107 2¢ N= vA 90 12.0 80.0 F6 F16 3NV= ¢6 -400 10.0 82.0
Cl7 C10 64 O= A -1430 18.0 74.0| B3 B10 2NN-1 v2 -50 7.0 850(| F11 F15 3NO= &5 -400 10.0 82.0
F23 F3 64 0= ¢Q -1430 18.0 740 D4 D8 3NN-1 v2 50 7.0850| Cl6 C3 3NO= #2 -400 10.0 82.0
E108 E111 64 O= v5 -1430 18.0 74.0| C11 C20 3NN-1 v4 -50 7.0850| C13 C8 3NV+l 6 -430 5.0 87.0
E109 E105 64 O= ¢Q -1430 18.0 74.0| B12 B15 2NN-1 ¥2 -50 7.0850| C20 Cl12 3NO+1 %4  -430 5.0 87.0
E110 E112 64 O= &2 -1430 18.0 740| C7 C13 3NN-2 ¥4 -100 2.0 90.0| F24 F4 3NV+3 46 -490 2.0 90.0
F5 F15 6NV=  ¢8 -1440 00 920 A3 A7 3NN-3 ¥5 -150 0.0 920| B2 B14 2¢DN-2 «A -500 0.0 92.0
- D14 57.9 - D14 57.9 - Ci10 47.6
C15 - 35.0 C15 - 35.0 - F17 26.2
F18 - 39.2 F18 - 39.2 D15 - 57.4
16 4 Kn1086 Basta kontrakt 17 494 Basta kontrakt 18 4 K105 Basta kontrakt
Vast v74 4v V =-620 Nord v 5432 3v O =-140 Ost v Kn85 34 S =140
oV 41093 Ingen + KKn1062 NS + KKn986
*ED42 & ¢ v & NT *Kn8 & ¢ v & NT #DKn & ¢ v & NT
D94 » EK7 N4 3344 & Kn5 ~E72 N46 475 2Kn982 463 N 9 105 9 7
vED9 v K1063 S 43344 v 109876 v EDKn S46475 vD743 v EK1096 S 9 105 9 7
¢ Kn6542 ¢ EK O 9 10108 9 ¢+ D4 + E983 087 967 ¢ D54 ¢ E7 043846
#95 #10876 vV 9 10108 9 210654 #ED3 V87957 *76 #K1043 V43846
4532 4 KD10863 «ED74
v Kn852 vK v2
+ D87 +75 41032
#KKn3 *K972 #E9852
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
B15 Bl 4v O-2 45 200 920 0.0 F1 F17 5NO-4 «Q 200 90.0 20 F1 F17 4vDO-2 4 300 920 0.0
A5 A7 3NO-1 v2 100 840 80| B15 B2 3NO-4 4K 200 90.0 20| D5 D12 34S= ¢Q 140 89.0 3.0
B5 B9 3NO-1 42 100 84.0 8.0([E112 E102 3NO-4 &K 200 900 20| B14 B3 24S+1 v4 140 89.0 3.0
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D7 D16 3NV-1 46 100 840 80| D13 D9 34S+1 «5 170 86.0 6.0/ A10 A6 3¢ N+1 vA 130 850 7.0
D10 D12 3NO-1 v2 100 840 80| F2 F19 5vV-3 49 150 80.0 120( B11 Bl 3¢ N+1 vA 130 850 7.0
F10 F13 3NO-1 ¥2 100 840 80| F8 F20 3NO-3 48 150 80.0 120| B5 Bl12 4vDO-1 «A 100 78.0 14.0
Cl18 C5 3NO-1 ¢5 100 84.0 80| B14 B3 2NO-3 4K 150 80.0 120| C8 C15 3vO-2 ¢2 100 78.0 14.0
E110 E106 3NV-1 #2 100 840 80| D15 D2 3NO-3 47 150 80.0 12.0| F11 F14 4v O-2 ¢3 100 78.0 14.0
B13 B8 2vyO= 45 -110 76.0 16.0| C20 C1 2NO-3 &K 150 80.0 12.0| D13 D9 4v O-2 +2 100 78.0 14.0
D4 D11 INV+1 4J -120 73.0 19.0( B11 Bl 24 S= ¢T 110 73.0 19.0|E105 E106 3v O-2 44 100 78.0 14.0
E107 E102 INO+1 2 -120 73.0 19.0| D16 D8 24 S= +Q 110 73.0 190 A4 A8 2v0O-1 +2 50 66.0 26.0
F1 F18 2NO+1 v2  -150 700 220| A2 Al 4v0-2 4Q 100 640280| A5 A7 4v0O-1 #A 50 66.0 26.0
E104 E105 2v V+2 #Q -170 68.0 240| B4 B7 3vO-2 &K 100 64.0280| C9 C13 4v0O-1 #2 50 66.026.0
B2 B14 2NV+2 48 -180 64.0 280| B6 B10 4vV-2 49 100 64.0280( D14 D3 3vO-1 #A 50 66.0 26.0
C2 C4 INO+3 v2  -180 64.0 280 F7 F18 4vV-2 #8 100 64.0280| B15 B2 3vO-1 T 50 66.026.0
A4 A8 INO+3 v5 -180 64.0 280| C8 C15 4vO-2 4K 100 640280 Cl6 C4 2v0-1 v2 50 66.0 26.0
A2 Al 3NO= v5 -600 44.0 480| A1I0 A6 3vyO-2 ¢7 100 64.0 28.0(E110 E101 3vO-1 T 50 66.0 26.0
D2 D14 3NO= v5 -600 440 480| F13 F5 2NO-2 K 100 64.0 28.0|E111 E107 34 S-1 3  -100 58.0 34.0
B3 B6 3NO= #3 -600 44.0 480| A4 A8 2NO-1 4T 50 450470 C3 C5 2v0O= #2 -110 48.0 44.0
D3 D6 3NO= ¥5 -600 440 480 D5 D12 24 O-1 43 50 450 47.0| B4 B7 2vO= &7 -110 48.0 440
F3 F22 3NO= 42 -600 440 480| F6 F15 2NO-1 4K 50 450 470| F4 F23 2¢»0= 3 -110 48.0 44.0
D5 D9 3NO= ¥3 -600 440 48.0( C7 Cl11 2NO-1 48 50 450 47.0| D6 D10 2vO= v2 -110 48.0 44.0
F5 F14 3NV= &2 -600 440 48.0( B13 B9 4vO-1 7 50 450 470 F6 F15 2vO= &5 -110 48.0 44.0
F6 F16 3NO= #3 -600 440 480| C14 C2 3vO-1 4K 50 450 470| F13 F5 2v0O= 3 -110 48.0 44.0
B7 B16 3NO= v2 -600 44.0 480| C16 C4 3vV-1 49 50 450470 F21 F3 1vO+1 «Q -110 48.0 44.0
F7 F19 3NO= v2 -600 44.0 48.0| C17 Ci12 3vO-1 4K 50 450 47.0(E108 E103 2v O= +2  -110 48.0 44.0
A9 A3 3NO= v5 -600 440 480 C19 C10 4v V-1 #J 50 45.0 47.0 |E113 E109 2v O= A -110 48.0 44.0
B10 B12 3NO= v5 -600 44.0 48.0|E104 E114 3v O-1 &K 50 450 470| F2 F19 2vO+1 v2 -140 26.0 66.0
Cl6 C3 3NO= v2 -600 44.0 480|E108 E103 3vV-1 49 50 450 470| D4 D7 2v0O+1 #6 -140 26.0 66.0
Cl7 Cl11 3NO= v2  -600 44.0 48.0|E113 E109 2NO-1 4K 50 450 470 B6 B10 2vO+1 &7 -140 26.0 66.0
F20 F2 3NO= v2 -600 44.0 480( A5 A7 34S-1 +¢Q -50 29.0 63.0| C7 Cl11 3vO= &7 -140 26.0 66.0
F23 F9 3NO= v2 -600 44.0 48.0( F11 F14 24 S-1 +4 -50 29.0 63.0| F7 F18 2v O+1 #A -140 26.0 66.0
E111 E101 3NO= v2 -600 44.0 480| B16 B8 34 S-1 v6 -50 29.0 63.0| A9 A3 3vO= T -140 26.0 66.0
F21 F8 4v O= #3 -620 26.0 66.0 (E111 E107 24 S-1 v6 -50 29.0 63.0| B13 B9 1lv O+2 T -140 26.0 66.0
Cl Cl14 3NO+1 +5 -630 13.0 79.0| D4 D7 34S-2 ¥6 -100 220 70.0( C14 C2 3vO= #A -140 26.0 66.0
B4 B11 3NO+1 #3 -630 13.0 79.0( B5 B12 44DS-1 ¢4 -100 220 700( D15 D2 3vyO= ¢2 -140 26.0 66.0
C9 C19 3NO+1 v2 -630 13.0 79.0 |E105 E106 24 S-2 ¢Q -100 220 70.0( D16 D8 2v O+1 #A -140 26.0 66.0
Al0 A6 3NO+1 42 -630 13.0 79.0( C3 C5 2vO+1 &K -140 16.0 760 C20 C1 3v O= #A -140 26.0 66.0
F11 F15 3NO+1 v2 -630 13.0 79.0| F21 F3 2v V+1 ¢ -140 16.0 76.0( F22 F9 2v O+1 &2  -140 26.0 66.0
C13 C8 3NO+1 vJ -630 13.0 79.0 (E110 E101 3v O= #2 -140 16.0 76.0| F24 F10 1v O+2 &4  -140 26.0 66.0
D13 D8 3NO+1 ¥5 -630 13.0 79.0| F24 F10 34 S-3 ¢Q -150 12.0 80.0f A2 Al 2vO+2 «A -170 10.0 82.0
C20 Ci12 3NO+1 44  -630 13.0 790| F4 F23 3vO+l1 ¢7 -170 9.0 830| F8 F20 2v O+2 #A -170 10.0 82.0
F24 F4 3NO+1 ¥5 -630 13.0 79.0| C9 Ci13 2vO+2 44 -170 9.0 83.0| C19 Cl10 2v O+2 #A -170 10.0 82.0
E109 E112 3NO+1 2 -630 13.0 79.0| A9 A3 34DS-2 «+Q -300 4.0 88.0|E112 E102 34 S-2 ¥3 -200 6.0 86.0
E113 E108 3NO+1 v2 -630 13.0 79.0| D14 D3 34DS-2 vT -300 4.0880| C17 Cl12 34 S-3 ¥4 -300 3.0 89.0
E114 E103 3NO+1 #3 -630 13.0 79.0| F22 F9 24DS-2 +Q -300 4.0 88.0|E104 E114 34 S-3 ¥3 -300 3.0 89.0
Cl5 C7 3NO+2 v2 -660 0.0 920| D6 D10 4v O= &K -420 0.0 920| B16 B8 54DS-3 v3 -800 0.0 92.0
- C10 47.6 | D11 - 37.3 D11 - 37.3
- F17 26.2 - Fl6 35.6 - Fil6 35.6
D15 - 57.4 C18 - 60.1 C18 - 60.1
19 4 Kn1086 Basta kontrakt 20 «E108 Basta kontrakt 21 4972 Basta kontrakt
Syd v 865 2NT O =-120 Vast v D1083 24 N =110 Nord v EK7642 2¢ O =-90
ov 4942 Alla 41065 NS 7
*764 & ¢ v & NT #ED6 & ¢ v & NT *874 & ¢ v & NT
4953 4 D74 N45775 4432 4 KKn9 N77 887 4106 4 KD53 N44765
v 104 v KKn9 S45775 v 765 v KKn4 S77887 v D5 v 1098 S55765
¢ KDKn10 +73 0986 6 8 ¢ EKN73 ¢ K84 06 6556 ¢ K108652 ¢ E4 088677
#EK83 #D10952 V754486 *K52 +10743 V66556 #EK9 #Kn1052 V88677
4 EK2 4 D765 4 EKn84
vED732 vE92 vKn3
+ E865 ¢+ D92 ¢ DKn93
#Kn #Kn98 #D63
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
C3 Cl14 44DO-1 A 200 920 00| C19 C11 INN+2 &T 150 920 0.0 F1 F15 3¢DV-2 vK 300 920 0.0
F1 F16 2vS+1 K 140 880 40| C17 C1 1vN+2 49 140 900 20| D7 D2 34 0-3 ¥¢3 150 90.0 2.0
A3 A2 2vS+1 K 140 880 40| Al A4 INN+1 «J 120 830 90| Al A4 2vN= «Q 110 82.0 10.0
Cl7 C1 1vS+2 K 140 880 40| A3 A2 INN+1 ¢4 120 83.0 90| F2 F17 2vS= #A 110 82.0 10.0
Al0 A7 1vS+1 T 110 830 90| D5 D8 INN+l1 #3 120 830 90| F3 F19 2¢vS= &A 110 820 10.0
E106 E107 2v S= K 110 830 9.0| C8 Cl12 INN+l1 #4 120 83.0 90| D6 D9 2vyN= &5 110 82.0 10.0
D14 D4 2#V-1 4J 100 78.0 140| C20 C2 INN+1 #6 120 830 9.0 B8 B12 2+ N= ¢4 110 820 10.0
Cl5 C9 440-1 A 100 78.0 140|E101 E103 INN+1 #4 120 83.0 90| A0 A7 2vS= +8 110 82.0 10.0
F23 F10 3#V-1 ¥8 100 78.0 140| B7 B1l1l 2y N= 49 110 740 180| C10 C15 2v+S= #A 110 82.0 10.0
D3 D15 1vS= A 80 710 21.0(E105 E114 2v N= 49 110 740 180| A5 A9 340-2 vJ 100 67.0 250
F7 F17 1vS= #A 80 71.0 21.0(E113 E110 14 S+1 v7 110 740 180 A6 A8 3¢ V-2 vK 100 67.0 250
D9 D16 1vS= ¢K 80 71.0210| F7 F17 2NO-1 v2 100 69.0 23.0| C14 C4 4e¢ V-2 vA 100 67.0 25.0
E112 E108 1v S= K 80 71.021.0| D14 D4 INV-1 «A 100 69.0 23.0| C19 C12 4¢DV-1 vA 100 67.0 25.0
Al A4 2vS-1 +K -50 57.0 35.0| F3 F20 INS= 3 90 58.0340| C20 C3 3¢V-2 vA 100 67.0 25.0
F2 F18 2v S-1 T -50 57.0 350 A5 A9 INN= #3 90 58.0 34.0(E107 E108 5¢ O-2 vA 100 67.0 25.0
A5 A9 3v S-1 <A -50 57.0 35.0| D9 D16 INN= #3 90 58.0 34.0|E113 E111 3¢ V-2 vK 100 67.0 25.0
B6 Bl 3vS-1 «K -50 57.0 35.0| A10 A7 INN= #4 90 58.0 34.0|E114 E106 34 O-2 vJ 100 67.0 25.0
B7 Bll 2vS-1 #A -50 57.0 35.0| C13 C10 INN= #4 90 58.0 340 A3 A2 3¢V-1 vA 50 50.0 420
F8 F19 1v S-1 #A -50 57.0 35.0| D13 D10 INS= 3 90 58.0 340| F4 F21 3¢V-1 vA 50 50.0 42.0
C13 C10 2vS-1 T -50 57.0 35.0| C18 C7 INN= #4 90 58.0340| B6 B9 3¢V-1 vA 50 50.0 42.0
F13 F11 1v S-1 #A -50 57.0 35.0 |E106 E107 INN= #3 90 58.0 340 B7 B2 4¢V-1 vA 50 50.0 420
Cl8 C7 1vS-1 +K -50 57.0 35.0|E111 E102 INS= 7 90 58.0 340| F10 F22 2NV-1 vA 50 50.0 42.0
E111 E102 3v S-1 #A -50 57.0 35.0| D7 D11 Pass 48.0 440( C11 Ci13 3¢ V-1 vK 50 50.0 42.0
B3 B15 2¢ S-2 #A -100 37.0 55.0( F1 F16 INS-1 3 -100 350 570 D13 D11 3¢+ V-1 vA 50 50.0 42.0
F3 F20 4vS-2 #A -100 37.0 55.0( F2 F18 INN-1 #7 -100 350 57.0| C18 C8 3¢ V-1 vA 50 50.0 420
B5 B8 3vS-2 #A -100 37.0550| C3 Cl14 INS-1 ¢3 -100 350 57.0(E110 E105 INV-1 7 50 50.0 42.0
A6 A8 3vS-2 #K -100 37.0 550 C5 C16 2NN-1 ¢4 -100 350 57.0| F8 F18 2¢ V= YA -90 38.0 54.0
D7 D11 3vS-2 #A -100 37.0 550 A6 A8 INN-1 «T -100 350 57.0| F23 F5 2¢ V= vA -90 38.0 54.0
B9 B16 3vS-2 #K -100 37.0 55.0| F8 F19 INS-1 ¢3 -100 350 57.0(E102 E104 2¢ V= ¥A -90 38.0 54.0
F9 F21 3¢ S-2 #A -100 37.0 55.0| B9 B16 34 S-1 v7 -100 350 57.0| B5 Bl14 2vS-1 «T -100 32.0 60.0
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B13 B10 3v S-2 &A -100 37.0 55.0| B13 B10 2v N-1 49 -100 35.0 57.0 F6 F13 2v N-1 K -100 32.0 60.0
D13 D10 3v S-2 &A -100 37.055.0( B14 B4 INS-1 ¢7 -100 35.0 57.0| B13 B11 3y N-1 ¢A -100 32.0 60.0
E109 E104 2¢ S-2 #A -100 37.0 55.0| C15 C9 INS-1 3 -100 35.0 57.0 C2 C17 3¢ V= vA -110 21.0 71.0
D5 D8 3#0= 4A -110 19.0 73.0|E109 E104 INN-1 ¢4 -100 35.0 57.0 B4 B15 2¢ V+1 vK -110 21.0 71.0
F5 F24 3#0= A -110 19.0 73.0 |[E112 E108 INN-1 ¢Q -100 35.0 57.0 F7 F16 2¢ V+1 vK -110 21.0 71.0
B12 B2 3#0= #4A -110 19.0 73.0 B3 B15 2v N-2 &T -200 11.0 81.0 D8 D12 3¢ V= vA -110 21.0 71.0
D12 D2 3#0= 4A -110 19.0 73.0 D3 D15 INN-2 &3 -200 11.0 81.0| D16 D10 3¢ V= vA -110 21.0 71.0
B14 B4 3#0= 4K -110 19.0 73.0 B5 B8 INN-2 ¢4 -200 11.0 81.0| F24 F11 3¢ V= vyA -110 21.0 71.0
E101 E103 34 O= «4A -110 19.0 73.0 F5 F24 24 S-2 7 -200 11.0 81.0 |E101 E109 3¢ V= vA -110 21.0 71.0
E105 E114 34 O= 4A -110 19.0 73.0 B6 Bl 24S-2 ¢7 -200 11.0 81.0 |E112 E103 3¢ V= vA -110 21.0 71.0
E113 E110 24 O+1 A  -110 19.0 73.0 F9 F21 INN-2 &3 -200 11.0 81.0 Bl B3 3NN-2 &5 -200 7.0 85.0
C8 Cl12 3vS-3 &A -150 7.0 850| B12 B2 INS-2 +¢3 -200 11.0 81.0 D4 D15 3¥y¥ N-2 ¢A -200 7.0 85.0
F14 F6 3vS-3 +¢K -150 7.0 85.0| D12 D2 24 S-2 7 -200 11.0 81.0 C5 C7 3vN-2 &K -200 7.0 85.0
Cl9 Cl1 4vS-3 &A -150 7.0 85.0| F13 F11 INN-2 &7 -200 11.0 81.0 D5 D14 3NS-2 43 -200 7.0 85.0
C20 C2 INO+2 ¥3 -150 7.0 85.0| F14 F6 2NN-2 &3 -200 11.0 81.0 F9 F20 3y N-2 ¢A -200 7.0 85.0
F22 F4 3NO= v2 -600 2.0 90.0| F22 F4 2NN-2 ¢4 -200 11.0 81.0| B16 B10 3vy N-2 &K -200 7.0 85.0
C5 C16 3NO+1 vA -630 0.0 92.0| F23 F10 INN-2 ¢4 -200 11.0 81.0 C9 Cl1 4vDN-2 ¢A -500 0.0 92.0
C4 - 39.9 Cc4 - 39.9 - D3 42.0
D6 - 42.4 D6 - 42.4 F14 - 37.9
- Fi15 44.3 - Fi15 443 | C16 - 50.8
22 4 Kn832 Basta kontrakt 23 4 D72 Basta kontrakt 24 4 Kn874 Basta kontrakt
Ost vE76 3NT O =-600 Syd v KKn5 44 V =-620 Vast v Kn9843 6¢ V =-920
ov + Kn843 Alla + D97543 Ingen +9
»84 & ¢ v o NT *8 & ¢ v o NT #Kn86 & ¢ v & NT
4E975 4K6 N3 4444 4103 « EK9864 N2 7 433 « E93 4 D102 N415 32
v92 v Kn1083 S 34444 vD986 vE4 S27 433 vE5 v K107 S415 32
¢ EK97 ¢ D62 O 109 8 8 9 ¢ Knl06 ¢K O 116 9 109 ¢+ ED87 ¢KKnl0652 O 9 128 9 11
#E103 #KKn76 V 109 8 8 9 &#K952 #ED106 V 116 9 109 #D1097 &E vV 9 128 9 11
« D104 & Kn5 & K65
v KD54 v 10732 v D62
+ 105 + E82 +43
D952 &#Kn743 #K5432
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
C2 C17 3NV-2 42 200 89.0 3.0| B11 B16 64 O-2 ¢A 200 920 00| C15 Ci11 6NV-2 ¥3 100 91.0 1.0
B4 B15 3NV-2 42 200 89.0 3.0 F3 F18 44 O-1 ¥3 100 84.0 8.0 D15 D5 6NV-2 ¥4 100 91.0 1.0
F7 F16 3NV-2 3 200 89.0 3.0| A1I0 A8 44 0O-1 +3 100 84.0 8.0 B9 Bl 3NV-1 v4 50 86.0 6.0
C20 C3 3NV-2 ¢3 200 89.0 3.0| F11 F23 44 O-1 4J 100 84.0 8.0 B11 B16 6NV-1 +¢3 50 86.0 6.0
Bl B3 3vV-1 &4 100 72.0 200 C15 C11 44 O-1 +A 100 840 80| F24 F6 6NV-1 v4 50 86.0 6.0
F2 F17 3NV-1 «2 100 72.0 20.0 [E102 E110 44 O-1 ¢A 100 84.0 8.0 F3 F18 4¢ O+1 &2 -150 82.0 10.0
A4 A3 3NV-1 6 100 72.0 20.0 |E108 E109 44 O-1 v9 100 84.0 8.0 F1 F14 3¢ V+3 +¢9 -170 79.0 13.0
C5 C7 3NV-1 3 100 72.0 20.0 [E111 E106 44 V-1 ¢3 100 840 8.0| D13 D12 3¢ O+3 +¢3 -170 79.0 13.0
A6 Al 3NV-1 ¢3 100 72.0 20.0 F4 F20 24 O+1 3 -140 72.0 20.0 B6 Bl4 5¢ O+1 45 -420 74.0 18.0
C9 C1 3NV-1 ¢4 100 72.0 20.0 B8 B3 34 0= T -140 72.0 20.0 F8 F17 5¢ O+1 &5 -420 74.0 18.0
Al0 A8 3NV-1 «2 100 72.0 200 B15 B5 24 O+1 ¢A -140 72.0 200| C12 C13 5¢ O+1 &4 -420 74.0 18.0
F10 F22 3NV-1 ¢3 100 72.0 20.0| F15 F7 24 O+1 ¢A -140 72.0 20.0 A2 A5 3NV+1 #8 -430 56.0 36.0
Cl8 C8 3NV-1 &3 100 72.0 20.0 |E114 E107 14 O+2 ¢A  -140 72.0 20.0 B2 B4 3NV+1 ¢3 -430 56.0 36.0
Cl19 C12 3NV-1 ¢4 100 72.0 20.0 F1 F14 34 O+1 ¢A -170 53.0 39.0 C5 Cl1l4 3NV+1l v4 -430 56.0 36.0
F23 F5 3NV-1 3 100 72.0 20.0 B2 B4 24 O+2 ¢A -170 53.0 39.0 D7 D10 3NV+1 v4 -430 56.0 36.0
E110 E105 3NV-1 42 100 72.0 20.0 A4 A3 34 O+1 ¢A -170 53.0 39.0 B8 B3 3NV+1l ¢3 -430 56.0 36.0
E112 E103 3NV-1 ¢4 100 72.0 20.0 C5 Cl14 24 O+2 ¢A -170 53.0 39.0 D8 D3 3NV+1 ¢3 -430 56.0 36.0
Cl0 C15 2¢ V= *8 -90 58.0 34.0 D7 D10 24 O+2 ¢A -170 53.0 39.0 F9 F19 3NV+1 v4 -430 56.0 36.0
F1 F15 INO+1 &2 -120 46.0 46.0 FO F19 24 O+2 &4 -170 53.0 39.0| F11 F23 3NV+1 9 -430 56.0 36.0
F3 F19 2NO= T -120 46.0 46.0| C10 C2 14 O+3 ¥3 -170 53.0 39.0| B13 B12 3NV +1 v4 -430 56.0 36.0
B5 B14 2NV = *4 -120 46.0 46.0| B13 B12 24 O+2 ¢A -170 53.0 39.0| C17 C3 3NV+l1 ¥3 -430 56.0 36.0
D5 D14 2NV = +3 -120 46.0 46.0| D15 D5 24 O+2 &3 -170 53.0 39.0| C20 C4 3NV+l1 v6 -430 56.0 36.0
F6 F13 INO+1 &2 -120 46.0 46.0| C17 C3 34 O+1 ¢A -170 53.0 39.0|E101 E104 3NO+1 &2 -430 56.0 36.0
B8 B12 INV+1 +¢3 -120 46.0 460 C19 C1 24 O+2 ¢A -170 53.0 39.0|E102 E110 3NV +1 ¥9 -430 56.0 36.0
D8 D12 INV+1 2 -120 46.0 46.0| C20 C4 34 O+1 &3 -170 53.0 39.0 |E108 E109 3NV +1 v4 -430 56.0 36.0
F8 F18 INO+1 v4 -120 46.0 46.0 |E101 E104 34 O+1 &4 -170 53.0 39.0 |E111 E106 3NV +1 3 -430 56.0 36.0
Cld4 C4 INO+1 &2 -120 46.0 46.0 |E103 E105 14 O+3 ¢2 -170 53.0 39.0 D2 D4 3NV+2 ¢3 -460 28.0 64.0
D16 D10 INV+1 3 -120 46.0 46.0 C7 C16 34 O+2 ¢2 -200 35.0 57.0 A4 A3 3NV+2 +8 -460 28.0 64.0
E101 E109 INV+1 42 -120 46.0 46.0 D8 D3 34 0+2 ¢2 -200 35.0 57.0 F4 F20 3NV+2 ¥3 -460 28.0 64.0
B6 B9 INO+2 ¥5 -150 28.0 64.0 F8 F17 24 O+3 8 -200 35.0 57.0 A6 Al 3NV+2 v4 -460 28.0 64.0
D6 D9 2NV+1 ¢4 -150 28.0 64.0 C9 C18 34 O+2 ¢2 -200 35.0 57.0 B7 B10 3NV +2 ¢3 -460 28.0 64.0
F9 F20 2NV +1 38 -150 28.0 64.0| F10 F21 3NO= &3 -600 29.0 63.0| A10 A8 3NV+2 v2 -460 28.0 64.0
Cll C13 2NV +1 3 -150 28.0 64.0| F24 F6 3NV= +5 -600 29.0 63.0| F10 F21 3NV+2 v4 -460 28.0 64.0
B13 Bl1l1 INO+2 v4 -150 28.0 64.0 D2 D4 44 0= ¢2 -620 19.0 73.0| B15 B5 3NV +2 &6 -460 28.0 64.0
E102 E104 INO+2 ¥5 -150 28.0 64.0 F5 F22 44 O= 42 -620 19.0 73.0| Fi5 F7 3NV+2 ¢3 -460 28.0 64.0
E107 E108 INO+2 &2 -150 28.0 64.0 A6 Al 44 O= & -620 19.0 73.0| F16 F2 3NV+2 ¢3 -460 28.0 64.0
A7 A9 INV+3 43 -180 19.0 73.0 B6 Bl4 44 O= T -620 19.0 73.0| C19 C1 3NV+2 ¥3 -460 28.0 64.0
D13 D11 2NO+2 43 -180 19.0 73.0 A7 A9 44 O= &4 -620 19.0 73.0 |E103 E105 3NV +2 &7 -460 28.0 64.0
A2 A5 3NV= 43 -600 9.0 83.0 B7 B10 44 O= ¢2 -620 19.0 73.0 |E114 E107 3NV +2 v4 -460 28.0 64.0
F4 F21 3NV= vA -600 9.0 83.0| D11 D16 44 O= 43 -620 19.0 73.0 F5 F22 3NV+3 ¥3 -490 11.0 81.0
B7 B2 3NV= +3 -600 9.0 83.0| D13 D12 44 O= ¥v3 -620 19.0 73.0 C9 C18 3NV +3 8 -490 11.0 81.0
D7 D2 3NO= 3 -600 9.0 83.0 A2 A5 44 O+1 ¢A 650 7.0850( D11 D16 3NV+3 ¢3 -490 11.0 81.0
B16 B10 3NO= &9 -600 9.0 83.0 D6 D14 44 O+1 ¢A -650 7.0 85.0|E113 E112 3NV +3 ¥9 -490 11.0 81.0
F24 F11 3NV = +3 -600 9.0 83.0| Cl12 C13 44 O+1 &4 -650 7.0 85.0 D6 D14 6¢ V= v8 -920 5.0 87.0
E113 E111 3NO= %2 -600 9.0 83.0| F16 F2 44 O+1 ¢A -650 7.0 85.0 A7 A9 64 O= &3 -920 5.0 87.0
E114 E106 3NV = +3 -600 9.0 83.0 B9 Bl 3NO+2 &3 -660 2.0 90.0 C7 C16 66 O+1 &5 -940 2.0 90.0
D4 D15 3NV+1 43 -630 0.0 92.0 |E113 E112 44 O+2 +2 -680 0.0 92.0| C10 C2 6NV= v8 -990 0.0 92.0
- D3 42.0 - C8 51.3 - C8 51.3
F14 - 37.9 D9 - 39.9 D9 - 39.9
Cl6 - 50.8 F13 - 41.1 F13 - 41.1
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